King Fahd University of Petroleum and Minerals

  Math Prep-Year Program

Math 001-Term 041     

TEST 1

NAME: ______________________    SEC____      ID ____________SNO_____

SHOW ALL NECESSARY WORKING
1.  TRUE OR FALSE QUESTIONS 
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2.  Factor:      
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SOLUTION:
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3.  
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   simplifies to:

SOLUTION:

[image: image6.wmf])

1

2

(

1

)

1

2

(

)

1

2

(

2

1

)

1

2

(

2

)

1

)(

1

(

)

1

)(

1

2

(

)

1

2

(

1

)

1

2

(

2

2

2

2

2

2

2

+

-

=

+

+

-

=

-

+

=

+

-

+

+

-

×

-

+

-

-

+

=

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x

x



                                                                                                                                 ANS:
4.   The expression   
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SOLUTION:
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5.  The expression  
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SOLUTION:
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6.

a) Solve the   formula 
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SOLUTION:
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b) The length of rectangle is 9 feet less than twice the width of the rectangle. If the perimeter of the rectangle is 54 feet, then find the width and the length of the rectangle.
SOLUTION:
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c) Solve 
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SOLUTION:
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7.  Given 
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i) Write 
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 in the standard form.
SOLUTION:
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ii) Find the conjugate of 
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8. Solve the equation 
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SOLUTION:
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